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QUESTION 1

Which is the EMC-recommended cache page size for Microsoft Exchange 2007 environments? 

A. 4KB 

B. 8KB 

C. 12 KB 

D. 16KB 

Correct Answer: B 

Explanation: 

 

QUESTION 2

An administrator has one WMware ESX hosting using NFS export on a VNX system. Recently, in an effort to improve
performance, they configured a two-port LACP trunk on the VNX system. There was no noticeable change in
performance after the implementation of LACP. After viewing the traffic data on the switch, customer notices that all
traffic is using the same physical link. 

What does the customer needs to know about ACCP? 

A. The default hashing will not improve the performance of any single host 

B. LCAP trucking still needs to be enable on port switches 
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C. The customer is not utilizing enough bandwidth to need any of the capacity on the second physical link 

D. The second physical link in the LCAP trunk is configured as standby 

Correct Answer: A 

 

 

QUESTION 3

What is the default user mapping method available to a VNX? 

A. Usermapper 

B. Microsoft SFU 

C. VNX UNIX User Management 

D. Local Files 

Correct Answer: A 

 

 

QUESTION 4

What is a unique identifier of a storage group? 

A. WWN 

B. Storage Group Name 

C. IP Address 

D. IQN 

Correct Answer: A 

 

 

QUESTION 5

While SnapView snapshots are being used, what happens when the reserved LUN pool fills to 100% utilization? 

A. The snapshot is deleted 

B. The snapshot session is quiesced 

C. the snapshot ml become corrupted 

D. The snapshot session stops 
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Correct Answer: D 

Explanation: 

SnapView sessions are stopped automatically by the software if the reserved LUN pool fills. The session 

that caused the LUN pool to fill is terminated. If multiple sessions are running on a single source LUN, all 

sessions that use the chunk that caused the overflow will be terminated. 
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